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これを代入すると 

 


 2

2

2

2

22

2

2

2

cos)1(coscossincos)1cossin(
















ydyyydyBydyyAydyyyByAA  

 


 2

2

2

2

2

2

22

2

sin)1(cossinsinsin)1cossin(
















ydyyydyyBydyAydyyyByAB  

 02cos
2

1

2

1
2sin

2

1
cossin

2

2

2

2

2

2

























yydyydyy  

 
2

2sin
4

1

2

1

2

2cos1
cos

2

2

2

2

2

2

2 


























 yydy

y
ydy  

 








 



2

2

2

2

22 )cos(sin dydyyy より 
2

cossin 2

2

22

2

2 









 



ydyydy  

     2cos1
2

1
2

sinsin)1(cos)1( 2

2

2

2

2

2

2

2








































yydyyyydyy  

     2sincoscos)1(sin)1( 2

2

2

2

2

2

2

2




















yydyyyydyy  

 

これより 
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